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	24 x 6 = (20 + 4) x 6

24 x 6 = (20 x 6) + (4 x 6)

24 x 6 = 120 + 24

24 x 6 = 144
	79 x 8 = (70 + 9) x 8

79 x 8 = (70 x 8) x (9 x 8)

79 x 8 = 560 + 72

79 x 8 = 632 


· Calcule en lignes :

57 x 6 = (50 + 7) x 6 = (50 x 6) + (7 x 6) = 300 + 42 = 342

39 x 7 = (30 + 9) x 7 = (30 x 7) + (9 x 7) = 210 + 63 = 273
46 x 8 = (40 + 6) x 8 = (40 x 8) + (6 x 8) = 320 + 48 = 368
97 x 4 = (90 + 7) x 4 = (90 x 4) + (7 x 4) = 360 + 28 = 388
63 x 5 = (60 + 3) x 5 = (60 x 5) + (3 x 5) = 300 + 15 = 315
85 x 7 = (80 + 5) x 7 = (80 x 7) + (7 x 7) = 560 + 49 = 609
· Calcule en colonnes :

	45 7

x    6
3 4 2
	63 9

x    7
2 7 3
	44 6

x    8
3 6 8
	29 7

x    4
3 8 8
	16 3

x    5
3 1 5
	48 7

x    7
6 0 9


	2 0 0

x       3
6 0 0
	2216 4

x       4
1 0 5 6
	4 0 3

x       2
8 0 6
	2314 2

x       5
1 7 1 0
	150 9

x       6
6 5 4
	5 1 0

x       4
2 0 4 0


· Calcule : (les opérations entre parenthèses sont prioritaires !…)

	(5 x 2) + (6 x 3) = 10 + 18 = 28
	(2 + 1) x (6 + 3) = 3 x 9 = 27

	
	

	(3 x 2) + (5 x 2) = 6 + 10 = 16
	(3 + 2) x (2 + 3) = 5 x 5 = 25

	
	

	(2 x 3) + (3 x 5) = 6 + 15 = 21
	(1 + 6) x (8 + 2) = 7 x 10 = 70

	
	

	(5 x 4) + (4 x 3) = 20 + 12 = 32
	(6 + 4) x (4 + 3) = 10 x 7 = 70

	
	

	(3 x 7) + (7 x 7) = 21 + 49 = 70
	(3 + 7) x (5 + 2) = 10 x 7 = 70

	
	

	(6  x 6) + (4  x 4) = 36 + 16 = 52
	(6 + 1) x (5 + 5) = 7 x 10 = 70


· Calcule en lignes :

	17 x 3 = 51
	4 x 38 = 152
	751 x 3 = 2 253

	
	
	

	42 x 2 = 84
	5 x 55 = 275
	930 x 2 = 1 860

	
	
	

	58 x 4 = 232
	3 x 61 = 183
	10 x 623 = 6 230

	
	
	

	40 x 5 = 200
	3 x 108 = 324
	931 x 10 = 9 310

	
	
	

	213 x 2 = 426
	2 x 348 = 696
	20 x 35 = 700


